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0 0O 0 OO public class ThreadPoolManager { private static
ThreadPoolManager tpm = new ThreadPoolManager(). // O I [
000000000 private final static int CORE_POOL_SIZE =
4.//000000000000 private final static int

MAX POOL SIZE=10.//00 0000000000000
private final static int KEEP_ALIVE TIME=0./0000000
000000 private final static int WORK_QUEUE_SIZE = 10.
/000000 Queue msgQueue = new LinkedList(). // 0 0O [
OO0000000O final Runnable accessBufferThread = new
Runnable() {publicvoidrun(){/00000O000O0OO0O
OO00000000AccessDBThreadd U 0O O O 0O O OO if(
hasMoreAcquire() ) { String msg = ( String ) msgQueue.poll().
Runnable task = new AccessDBThread( msg ). threadPool.execute(
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